
Children’s Ride On Car
TQ10018



Please read all instructions carefully and keep it for future reference.

Warnings:

Attention! Use it with protective equipment.

Attention! Not use it in the traffic.

Attention! The product is not suitable for the children under 3 years.

General Warnings:

      The product must be installed and used under the supervision of an adult.

      Read through each step carefully and follow the proper order.

      Remove all packaging, separate and count all parts and hardware.

      Please ensure that all parts are correctly installed, incorrect installation can lead to a danger.

      We recommend that, where possible, all items are assembled near to the area in which they 

will be placed in use, to avoid moving the product unnecessarily once assembled.

      Ensure a secure surface during construction, und place the product always on a flat, steady 

and stable surface.

      Please use the product carefully, as the product requires great skill, avoid accidents by the 

user or others, by fall or collision.

      Please wear suitable protective equipment during use, e.g. protective helmet, gloves, knee 

pads, elbow pads etc.

02



110 LBS 

,

15

03



2.Install motors and wheels.

Please find the drive motor first and disconnect the 
drive motor, then insert the motor into the rear axle, 
insert the connector wire into the hole and connect 
to the power cord. (Please refer to the picture).

04



When this model does not have a front motor, insert washers on both 
sides of the front wheel.

rear

（Plug the long part of the line into the steering wheel）

05



4.Install front windshield and back empennage 
   by screws(M4*12 flat head screw)

by screws（(M4*12 and M4*14 round head screw)

Only here use M4*14 
round head screw

06



Please note that the rearview 
mirror needs to distinguish 
between left and right. Please 
insert the rearview mirror into 
the window. (referrer to picture) 

Lock

Open

First fix the seat with four screws, then install the seat on the 
car, paying attention to the buckle joints on the back of the 
seat. Put them in the car body. Install the seat and fix the 
fasteners in the seat, then rotate 90 degrees to lock it. 

07



3-5km/h（For 12V）  6-8km/h（For 24V）
57.5” x 36” x 26” 

2*12V7AH/4*35W motors 

110 lbs.

08



110 LBS. 

09



not

10



 "RC For 12V:"

D

decrease 
increase

11

●

●



the remote
control is not paired. 

12



WARNING: To reduce the risk of injury, adult 
supervision is required. 
Never use in roadways, near motor vehicles, 
on or near steep inclines or steps, swimming 
pools or other bodies of water; always wear 
shoes, and never allow more than 2 riders.

110 lbs 

13



Welcome to visit our website and purchase our quality products!

We would like to extend our hear�elt thanks to 

all of our customers for taking �me to assemble 

this product and giving us valuable feedbacks.

With your inspiring rating, COSTWAY will be more consistent to offer you 
EASY SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!
US office: Fontana, California
UK office: Ipswich

Reward Points
Exclusive Customer Service
Personalized Recommenda�ons
Permanent Shopping Cart
Order History

14




